chik Bl 788 50\ UMD

Relay-type Terminal Block

E v F_,Pitch 16mm

U
2w [FTO05NN-60A
S
i ACB60V  60A
HEAR IR 500V 1000MQ I E
Insulation Resistance | DC500V  1000MQ and over
- SAES 3000V 1 4 REIIE
Withstands Voltage |AC3000V 1 minute and over
5 EAR 14. 0mm?
Applicable Wire 6 AWG
FRIRE ZH5(S L7 2 AN-m
lamping torque for connection screw
20.5 (23.5) — %7/ General Tolerance +0.5
155 16 185 ’RE/Scale Yy BV Unit mm‘

W]
18]
12
23.3
52

: ®
Bx1.2 5

N

\@ O

35

20

o [Eck [ A | — B p.

® Ordering Form : Type No. No. of Poles (P)
DA T ay ka—rE—2 (R2117)
® Other options *Jumper (F2117)

W4, Specifications.
&, Part No. % #/Part Name &, Material #1&,/ Standard stk /Size 438 / Treatment fis %, Remark
1 A (A) Base (A) PBT UL%4V-0 B o Black
2 AR (B) Base (B) PBT UL94V-0 B & Black
3 HAR(C) Base (C) PBT UL94V-0 2 & Black
4 SEEAR Terminal # 4 Brass C2680 WOE t2.0 | =5 VAv¥ Nickel-Plated
5 HERLE A Screw $  Steel SWRM M5X0.8X12 ¢ | ZvhAv% NickelPlaed | 7)=F> Y E A TypeD)
6 AfiF v M Hexagon nut #  Steel SWRM M5X0.8 ZRPA=b Trivalent Chromate Treatment
7 FAERIV I Connecting bolt #  Steel SWRM M4 b Trvlen Chromte Treatment
8 HkEF v b Connecting nut #  Steel SWRM M4 SRR Trvalent Chromat Treatment
9 FLEHE  Marking strip | RUA—KRA—bF  Polycarbonate UL94V-0 O 1 0.5 F 4 White
10 T IN— Cover ARH—=FR%—F  Polycarbonate UL%4V-0 WOE t0.8 % BJ  Transparence
1B,/ Poles 1P| 2 3 4 5 0 7 8 9 |10 | 11 | 12 | 13 | 14 | 15| 16 | 17 | 18 | 19 | 20 | 21 | 22
A 44 | 60 | 76 | 92 | 108 | 124 | 140 | 156 | 172 | 188 | 204 | 220 | 236 | 252 | 268 | 284 | 300 | 316 | 332 | 348 | 364 | 380
B 34 | 50 | 66 | 82 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210 | 226 | 242 | 258 | 274 | 290 | 306 | 322 | 338 | 354 | 370

1B,/ Poles 23 | 24
A 396 | 412
B 386 | 402

34



